
MINUTE MADNESS


1. Nuclear Reaction

2. Chemical Reaction

3. Neither


identity of the nuclides altered

large amount of mass is destroyed creating a small amount of energy

violates Law of Conservation of Mass, but follows Law of Conservation of Mass-Energy
properties of the products differ from properties of the reactants, but the identity of the atoms does not

relatively large amounts of energy released

atoms rearranged

nucleus altered

electrons involved

MINUTE MADNESS

1. stable nuclides

2. unstable nuclides


low binding energy/nucleon

likely to be more abundant in nature

likely to have even #’s of protons and neutrons

likely to radioactively decay

if low atomic number, likely to have a 1:1 proton to neutron ratio

if high atomic number, likely to have 1:1.5  proton to neutron ratio

MINUTE MADNESS

Part 3


1. Fusion

2. Fission

3. Radioactive Decay




common nuclear reaction of lighter elements

unstable atoms emit a small, fast-moving particle leaving behind a slightly smaller product

process that all atoms above atomic number 82 will eventually undergo

two smaller atoms combine to make a larger atom

a larger atom splits in half (often with the help of a neutron or proton hitting it) to make two medium sized atoms

occurs on the sun

the process that carbon-14 will eventually undergo

emits an alpha, beta, gamma, or positron

usually only one reactant

235U  +  n  SYMBOL 174 \f "Symbol"  141Ba  +  3  n  +  92 Kr

4He + 4He ( 8Be 

238 U (   +  234 Th  


